TREE <A SRR RO TR EOE RER (—MEFLL) | [ 0% 1A E0R ER]

5

_ "
B EREZR §
2 96 % %
e~
| /"‘ 4 \ FRALAMZES
., % P
g S
F__

I
G )
£4° 1
(DINEXCOFE H zl:J
S 9% % EE o8 <y_| s e
i e =

P —HEE LY EN L BE
CMEFELUEMLEEE (1 0%LLE)

1 0
ANEIE 96 % Jf‘Pimll
KAEVE 92 %
FE1TRR14EICKD TR EE DRRIE (FSHFIZKDEHED C—HEEL YR LEE

(BT BAEASR7 BIEE&ER7] C—MEEL YD LlE (1 0%LLL)
F2: BIAAEEDTAUIZITEFHRNEREN TN -OEEHD A5 L —REEA DDA VEIE




EEEOSM3FTITHISHORRM AR EE

KRBEF. BWMMEMHVFZLDEHAD,

SHIED SHEQ SHIEQR SHED SMIEG SHE®
(2/8) (B/8) it (2/8) (/) st (&/8) (&/8) it
X 11H18H 11A218(K) —HE4F 11818H 11A218(K) —MF4E 11H18H 11A218(XK) —WE4
N ERFIRA BEAR A BT 4 F=):9 Fi=]:9 Fi=):9
7 O/ /@ ®/®
(£H) (£5H) (£5] (NRYE) (NEIE) (hEiE) (KRE) (KEH) CED
1 =[] EoAthEE TR~ 36,900 38,500 96% 18,200 16,300 112% 18,700 22,200 84%
2 BEL 3N 438 ~ 12 67.600 67,500 100% 49.400 49,200 100% 18,200 18,300 99%
3 BER E3 AL K ~ S 98,700 107,100 92% 72,700 78,600 92% 26,000 28,500 91%
4 BEA |BEE E3AME )l ~ )\ & 54,700 57,600 95% 38,200 39,400 97% 16,500 18,200 91%
5 BRR/ XS’ EomamiE EERT—h~rhiE 7,700 8,000 96% 5,200 5,600 93% 2,500 2,400 104%
6 HEER E34EIBE AR ~ 152 AH 30,700 34,700 88% 24,400 27,700 88% 6.300 7,000 90%
7 EER/ KPR |E3aksE WAk ~HH 15,800 17,200 92% 12,200 13,400 91% 3,600 3,800 95%
NEXCO £5&t 44,600 47,200 94% 31,500 32,900 96% 13.100 14,300 92%
EEES EEEEIRe BAAB~EE 53,700 51,700 104%
e ERSE2E s KBS ~ IK I 65,200 69,000 94%
?'J‘Iflﬁ 1R g EEEERE BT ~BRE 25,600 24,000 106% S 2| B AE R A 7 |
S 7 LA E B 2B~ H 23,600 26,300 90% Bl re
e JE AL R4 B e P S ~ kB 13,300 14,400 92%
12l R JE AL R4 R e N~ BB 121 27,800 28,400 98%
@ - b N SR SR 35,600 36,200 98%
Bl fHfREt 40.100 41,700 96%




